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3BepHiTb yBary!

1. LLo6 aictati geTani 3 NnaHWeTKN BUKOPUCTOBYNTE
OOMOMDKHWUI eNeMEHT.

2. [leaki enemMeHTW Nasny MoOXyTb 3'€4HyBaTUCSA

i3 3ycunnam.

3. AKLLO eNleMeHT 3'€QHYETbCA i3 3ycunngm abo

He BXOAWTb B Mas iHLWOI AeTani, To NOTpibHO ckopucTaTmca
MUNOYKOIO.

4, AKULO AeTanb Npu 3'edHaHHI 3aHaATO BiflbHO TPMMAETbCA
B Ma3ax KOHCTPYKTOPa, TOAI Kpallle OAaTKOBO BUKOPUCTATH
Knemn.

5. 3amacHi getani mo3HavyeHi HOMEPOM B AyXKKax.

6. ByabTe yBaXKHMMM, Ta He nocnillanTe.

Pay attention!

1. Use the auxillary element to get the parts from

the tablet.

2. Some parts of the puzzle can be connected with force.
3. If the element Is connected with difficulty or does not fit
into the groove of another part, then you need to use
the nail file.

4. If the part is too loose when connected, does not hold
in the grooves of the constructor, then it is better

to additionally use glue

5. If you see parts marked with a number in parentheses,
they are spare.

6. Be careful and take your time.

@ — HoMep nnaHWeTKn 3 HeobxigHMMK aeTanamMu. Tablet number with the necessary parts.
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